Pinalite (PbsWO;5Cly) Structure:
A2B5C3D 0C44 63 _ac_ch cf c-001
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Prototype Cl,O5PbsW

AFLOW prototype label A2B5C3D_0C44_63_ac_ch_cf_c-001
Mineral name pinalite

ICSD 89833

Pearson symbol 0C44

Space group number 63

Space group symbol Cmem

AFLOW prototype command aflow --proto=A2B5C3D_oC44_63_ac_ch_cf_c-001
--params=a, b/a, c/a, Y2, Y3, Ya, Y5, Y6, 26, L7, Y7, 27

Other compounds with this structure
BagReO5CIQ, SI‘3R€O5C]2

e (Grice, 2000) give the structure of pinalite in the Amam setting of space group #63. We used FINDSYM to transform
this to the standard C'mem setting.
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Base-centered Orthorhombic primitive vectors

a; = %afc — %by
az = %afc + %by
ag = cZ
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 0 (4a) ClI
B, = 1aj ica (4a) ClI
B = —yoar +y2a2 + § a3 by2§ + tc2 (4c) ClII
B, = y2a1 — yoaz + § ag —by2 § + 3c2 (4c) Cl 11
Bs = —ysa; +yzas + 1 as bys§ + 2cz (4c) Ol
Bs = ysay —ysaz + 5 ag —bys§ + 3c2 (4c) 01
Br = —ysa; + ysa + 1 as bys ¥ + Lei (4¢) Pb1
Bs = yaa; —ysaz + 5 ag —bys ¥+ 3c2 (4c) Pb1
By = —ys a1 + Y5 az + 1 as bys§ + c2 (4c) W1
Bio = Ysay —ysas + % ag —bys ¥ + %02 (4c) WI
Bi1 = —Ye a1 + Yo a2 + 26 a3 bys § + cz6 Z (8f) Pb 11
Bz = Ysar — Yo az + (2 + 3) as —bys§ +c (26 + 3) 2 (8f) Pb II
Bis = —ysay +ysaz — (2 — 3) as byey — (26 — 3) 2 (8f) Pb II
Bia Ys A1 — Yo A2 — 26 A3 —byey — cz6 2 (8f) Pb II
Bis = (w7 —yr) an+ (27 +y7) az + azy X +byr § + czr 2 (16h) 011
Z7as
Bie = —(zr—yr)ar—(wr+yr) az+ —axr X —byry+c(zr+3) 2 (16h) on
(27 +3) as
Biz = —(vr+yr)a— (27 —yr) az — —azrX+byry —c (2 —3) 2 (16h) O1II
(21— 3) &
Bis = (x7 +y7) a1 + (z7 — y7) ag — ar7X —by: § —cz7 2 (16h) Ol
2783
Bis = —(v7—y7)ar— (27 +yr) az - —ax7X —byry —czr 2 (16h) oI
27 a3
Bao = (w7 —yr) a1+ (w7 +y7) az — ar;X+byr§ —c(zr—3) 2 (16h) 011
27— 3) ag
Ba: = (z74yr) an+ (27 —y7) a2 + ar7X—byr§+c(zr+3) 2 (16h) 011
o7+ 1) g
B2z = —(wrtyr)ar—(v7—yr) ax+ —az7 X +byr y +czr 2 (16h) on

Z7as



References

[1] J. D. Grice and P. J. Dunn, Crystal-structure determination of pinalite, Am. Mineral. 85, 806-809 (2000).



